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QUESTION 1

Refer to the exhibit. 

The HSRP instance on both switches is showing as active. Which action resolves the issue? 

A. Configure the HSRP timers to be the same. 

B. Allow VLAN 100 between the switches. 

C. Configure the IP address of N9K-B on the same subnet as N9K-A. 

D. Configure preempt on only one of the switches. 

Correct Answer: B 

 

 

QUESTION 2

The external routes fail to propagate to leaf switches in Cisco ACI fabric Which two actions resolve the issue? (Choose
two.) 
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A. Enable the VTEP pool in the fabric 

B. Assign an MP-BGP AS number to the fabric. 

C. Specify the spine nodes as route reflectors 

D. Associate the correct contract to the L30ut. 

E. Configure an MP-BGP area. 

Correct Answer: BC 

 

QUESTION 3

Refer to the exhibit. 

A network administrator created an EEM script to alert network management about flapping interfaces on a Cisco Nexus
Series Switch. The applet must run when an interface flaps three times within 10 minutes. The EEM script fails to run as
expected. Which action resolves the issue? 

A. Use integer data within the SNMP trap. 

B. Change the event period to 600. 

C. Configure a policy-default action. 

D. Associate a scheduler to the EEM script. 

Correct Answer: B 

 

 

QUESTION 4

A customer has a Cisco UCS Center cluster. The customer configures LDAP as the AAA protocol and enables SSL for
LDAP. The LDAP authentication fails. Which issue is the cause of the failure? 

A. The LDAP client passed an incorrect from the trustpoint. 

B. The ca certificate is missing from the trustpoints. 

C. The LDAP server limit that is set by an administrative authority was exceeded. 
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D. The LDAP time limit that is specified by either the client or the server was exceeded. 

Correct Answer: B 

 

 

QUESTION 5

Refer to the exhibit. 

An engineer is experiencing a problem when running a Docker container inside the Cisco Nexus 9000 bash shell. Which
action resolves the issue? 

A. Add a new nameserver 

B. Connect to bash as a different user 

C. Change VRF to management 

D. Configure the mgmt0 interface 

Correct Answer: B 
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